11" Coverage

[

Optional Seam Sealant

S— 1

11/2" IStiffening Rib (Standard)
MRD110
- 15" Coverage
Optional Seam Sealant
11/2" hStiﬁening Ribs (Standard)ﬂ

a

T
Optional Seam Sealant

11/2" |

MRD150

19 1/4" Coverage

I i

Stiffening Ribs (Standard)

Optional Seam Sealant

Tf

11/2"

a

Optional Striations (Specify)

MRD19

Positive Panel Interlock

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

DWG. NO. DR KRK DATE1/29/20]_5

01

3/24/2022

Updated Detail to include Optional Seam Sealant

KRK

APP

REV.
NO.

DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

DATE

SH. SIZE B

SCALE

X:X




Allow for Thermal
Expansion/Contraction

ATA-Guard

#10 x 1" Wafer Head Screwx

Eave Trim

S.S. Painted Pop Rivets \

Metal Plug
\0

Plywood Substrate

Dutch Seam Clip

ATA-Shiled
1 width of roll

Dutch Seam Panel

34 D1=1"

S
) e
Eave Trim

MDA111 - 2:12 to 4:12 Slope

MDA112 - 4:12 to 8:12 Slope
D1=11/2"
MDA113 - 8:12 to 12:12 Slope
D1 =2"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
Mesa AZ
480-558-7210

T Dutch Seam Eave Detail

02 | 5/29/2019 Updated Clip Descirption KRK DWG. NO. R KRK DATE1/27/2015
01 6/7/2017 Updated Substrate and Underlayment KRK MATERIAL APP DATE

REV. SH. SIZE SCALE N

NO. DATE DESCRIPTION OF REVISION BY | APP B X:X




Gable Starter Cleat

Gable Trim Cap
/ ~S.S. Painted Pop Rivets
¥

7 Closure Dutch Seam Panel
S.S. Pop Rivets ATA-Guard
q Butyl Sealant Tape Plywood Substrate
— — — — — 7 — — — —
:::::::K :::::::::::::::::::::::::::::::::::::::::::::::::::::/5:::::::::::::::::::::::::g
ATA-ShleId :::::::@:::::::::::::::::::::::::::::::::::::::::::::::::::::’:::::::::::::::::::::::::: - - - - -Z-Z-Z!
1 width of roll | ¥ ¥
|
b3
1/2" O.H.# P
41/16"
17/8"
n l 7!
4 Lt 1!1’1 %\
13/16" x 1/2" Hem
Lt lllﬁ
T > MDA210-Gable Trim Cap
n n A S (0] , INC
111/16 5/8 AT A mTERToNL

\ » 61(;4—395-:;45

MDA211-Gable Starter Cleat L\ agorssera10
Fl"* "™Dutch Seam Starting Gable Detail

DWG. NO. DR KRK DATE 2/3/2015

Note: * denotes color side. MDA910-Z Closure o | s Updated Clp Informaton K2 | KR fireRiaC ::_PSIZE - ::E -




Appropriate Sealant

Counterflashing

| ?Appropriate Fastener

Sidewall Trim
&ATA-Shield (1 width of roll)
S.S. Painted Pop Rivets

|
« £

/Z Closure

/S.S. Pop Rivets

Butyl Sealant Tape

c3
E€§
3
N —
——

Dutch Seam Panel

ATA-Guard
[ Plywood Substrate

= /%%%

3/8"

-
/2"~

1/2" OH.—= .

MDA410 - Sidewall Trim

1]

3/4"

111/16"

i

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ

-

MDAS80 - Counterflashing

480-558-7210

TITLE
Dutch Seam Starting Sidewall Detail
I DWG. NO. DR KRK DATE 2/3/2015
) MDA910 - Z C Osure 01 5/29/2019 Updated Clip Information AJZ | KRK ATERTAL APP DATE
NOte: * denOteS COIor Slde' T\IE(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




S.S. Painted Pop Rivets
é Dutch Seam Panel

Gable Trim
Gable Starter Cleat—_| £ Closure ATA-Guard
Dutch Seam Clip—_ | 5.5. Pop Rivets Plywood Substrate
_—Butyl Sealant Tape
,-i' — — = — — — = 77%@5 Eé — — = — =
ATA-Shield —_ |- = — =
1widthofroll [ = s

#10 x 1" Wafer Head Screw\_w —
)
X
1/2" O.H. % F

T 41/16"

17/8"

T /g
13/16" x 1/2" Hem

ﬂ--ﬂ
5/8" MDA210-Gable Trim Cap

111/16" \?( g Q) ATAS INTERNATIONAL, INC
\ Allentown PA
\ 610-395-8445
: Mesa AZ
MDA211-Gable Starter Cleat L\ ago-sse7210
Fl" - o E— o —— T Dutch Seam Ending Gable Detail
02 | 2/8/2018 Updated ATA Shield Installation KRK DWG. NO. R KRK DATE1/27/2015
Note: * denotes color side. M D A9 10_Z CI osure o1 | 672017 Updated Trim Hems KRK TERTAL APP DATE
T\IEOV DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




MAppropriate Sealant

Counterflashin
L g

Appropriate Anchor Fastener
A /

"
L\

L ATA-Shield (1 width of roll)
s Sidewall Trim

—S.S. Painted Pop Rivets

Dutch Seam Panel

Dutch Seam Clip

Z Closure
/
/S.S. Pop Rivets ATA-Guard
| e Butyl Sealant Tape Plywood Substrate
‘ - 4|| -

4"
3/8"

1/2" = «T
1/2" O.H. ﬂ

-1 3/4" i MDA410 - Sidewall Trim

f <
111/16"

ATAS INTERNATIONAL, INC

Allentown PA
610-395-8445
H Mesa AZ
L MDA980 - Counterflashing [\ S ey
TITLE
F 1"~ Dutch Seam Ending Sidewall Detail
* R 02 5/29/2019 Updated Clip Information AJZ | KRK DWG. NO. DR KRK DATE1/27/2015
Note: * denotes color side. M D A9 10 - Z CIOSU re o1 | 6772017 Updated Trim Hem KRK ATERTAL ARP DATE
T\‘E(;/ DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Water and Air Resistive Barrier

Hip Cap Plywood Substrate
Notched Neoprene set in Sealant #10 x 1" Wafer Head Screw
S.S. Painted Pop Rivets Z Closure
Butyl Sealant Tape
— Dutch Seam Panel
Dutch Seam Clip s //f/;ﬁ/ff /::/i//i// \::::\:\\:f; S Dutch Seam Clip
— //4 /:21//:;:1//// \::::\:\:\::\\ \E\

g — e SIITES S =
T — oo SR \\\/ kln’
== = ST

= % I SEEEE

1/2" O.H.

111/16"

1
-

MDA910-Z Closure

1/2" O.H.

Factory Pre Notched Hip Z Closure A el Hip Cap Y A
*Right and Left sides are made depending on Panel and Roof Slopes. MDA315-2:12 to 6:12 Slope
D1=6"
MDA316-6:12 to 9:12 Slope ATAS INTERNATIONAL, INC
'D1_7" ! P Allentown PA
- 610-395-8445
MDA317-9:12 to 12:12 Slope Mesa AZ
D1=8" \ 480-558-7210
TITLE . .
Dutch Seam Hip Detail
Note: * denotes color side puete: ffp KRK z:zuzs/zms
. H H H HH 01 5/29/2019 Updated Clip Information AIZ |KRK [VATERTAL
Note: Neoprene Closures are not required if Factory Pre Notched Hip Z Closures are utilized. e o I s g oy




Dutch Seam Panel

Dutch Seam Clip
Plywood Substrate

Valley Pan >
#10 x 1" Wafer Head Screw ) g ="

Butyl Sealant Tape
Joggle Cleat

ATA-Guard
ATA-Shield

4" Min. to 6" Max.

Allow for Thermal
Expansion/Contraction

1/2" O.H.

MDAO975 - Joggle Cleat

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

19/16"

9 15/16"

MDASO0O - Valley Pan "™ Dutch Seam Valley Detail
DWG. NO. DR DATE
KRK 2/3/2015
01 5/29/2019 Updated Clip Information AJZ | KRK MATERIAL ARP DATE
Note: * denotes color side. Ry|  Date DESCRIPTION OF REVISION BY | APP SHSIZE B |SAE wx




Z Closure
Pop Rivets 6" 0.C.

#10-13 x 1" Wafer Head Screw
Expansion Joint Cover
Membrane

Dutch Seam Clip

Painted Pop Rivets 24" 0.C.
Butyl Tape
Dutch Seam Panel ;
ATA-Guard
Plywood Substrate

N,
[ — i f,},,f,i,,;\,f,i,,,,ff ,,,,, e e
Specify -
1/2n
+ 11/8"
X
* |
. Variable
T 1" - 1/2" —~ Dimension
MDA939-Expansion Joint Cover
111/16" ATAS INTERNATIONAL, INC
Allentown PA
i 610-395-8445
Mesa AZ
SR 480-558-7210
TITLE
m 1"# Dutch Seam Expansion Joint Detail
DWG. NO. DR KRK DATE 2/6/2015
NOte: * denotes CO|0I‘ S|de. MDA9 10-2 CIOSU re 01 | 5/29/2019 Updated Clip Information AJZ | KRK [VATERTAL APP DATE
T\IEOV DATE DESCRIPTION OF REVISION BY | APP SH. SIZE B SCALE X:X




Ridge Cap

Notched Neoprene set in Sealant
S.S. Painted Pop Rivets
Butyl Sealant Tape

Dutch Seam Clip /, =

Factory Pre Notched Z Closure

11" Panel - Factory Pre Notched Z Closure will cover 5 Panels.
15" Panel - Factory Pre Notched Z Closure will cover 4 Panels.
19 1/4" Panel - Factory Pre Notched Z Closure will cover 3 Panels.

Note: * denotes color side

Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

Water and Air Resistive Barrier
Plywood Substrate
#10 x 1" Wafer Head Screw

Z Closure
Dutch Seam Panel
Dutch Seam Clip
\\\:\\\:\:\:\:\:::\ /‘\\
\\::::\:\5::\ \;\E\
SIS TS T~
LTI TSI TS \\7
SR A

D
¥ \:::\:\::\

e

T

111/16"

1
-

MDA910-Z Closure

1/2" O.H. 1/2" O.H.
. Y Ridge Cap L
MDA301-2:12 to 6:12 Slope
D1=6"
MDA302-6:12 to 9:12 Slope ATAS IN ERNATIONAL, INC
D1=7" 610-395-8445
MDA303-9:12 to 12:12 Slope M Mesa AZ
D1=8" S % 480-558-7210
"™ Dutch Seam Ridge Detail
DWG. NO. DR KRK DATE]./27/2015
01 5/29/2019 Updated Clip Information KRK MATERTAL AP DATE
T\]E(;/ DATE DESCRIPTION OF REVISION APP SH. SIze B SCALE X:X




Note: Start/End Vented Z
Closure runs with at least 2'-0"

of Non-Vent Z Closures. Vented Ridge Cap

Notched Neoprene set in Sealant #10 x 1" Wafer Head Screw

Vented Z Closure Buytl Sealant Tape

S.S. Painted Pop Rivets

) - Dutch Seam Panel
ATA-Guard
Plywood Substrate = SN Dutch Seam Clip
. - ///////2:/:/://// \\\::\\:\::i:\ /\\E
= Tt~ SN TS
//// = ST S os = \\\\
e Be— S
= T Lo SN -/
= /////&///// \\\R::\\‘
/:://////// % ¥ \\\::\:\:\

Factory Vented Pre Notched Z Closure

11" Panel - Factory Vented Pre Notched Z Closure will cover 5 Panels.
15" Panel - Factory Vented Pre Notched Z Closure will cover 4 Panels.
19 1/4" Panel - Factory Vented Pre Notched Z Closure will cover 3 Panels.

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

Specify

Vented Ridge Cap

MDA322-2:12 to 6:12 Slope
D1=7 1/4"
MDA324-6:12 to 9:12 Slope
D1=8 1/4"
MDA326-9:12 to 12:12 Slope
D1=9 1/4"

-~ 21/4"—+]

5/8" *

111/16"

-1
MDA911-Vented Z Closure

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
‘\ - Mesa AZ

> 480-558-7210

TITLE

Dutch Seam Vented Ridge Detail

DWG. NO. DR KRK DATE 2/5/2015

01 5/29/2019 Updated Clip Information

AJZ

APP DATE

KRK | MATERTAL

REV.

NO DATE DESCRIPTION OF REVISION

BY

SH. SIZE B SCALE X_X

APP




Shed Ridge Starter Cleat

Shed Ridge Cap
#10 x 1" Wafer Head Screw

Notched Neopene set in Sealant
S.S. Painted Pop Rivets
Z Closure

Butyl Sealant Tape
Dutch Seam Panel

Dutch Seam Clip .

ATA-Guard e v
Plywood Substrate — o

Factory Pre Notched Z Closure

11" Panel - Factory Pre Notched Z Closure will cover 5 Panels.
15" Panel - Factory Pre Notched Z Closure will cover 4 Panels.
19 1/4" Panel - Factory Pre Notched Z Closure will cover 3 Panels.

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

3/4"

\r/l/Z" O.H. D2

Shed Ridge Starter Cleat

MDA341-2:12 to 6:12 Slope
D1=4"
MDA348-6:12 to 9:12 Slope
D1=4 1/4"
MDA349-9:12 to 12:12 Slope
D1=41/2"

13/16" x 1/2" HemN

Shed Ridge Cap

MDA342-2:12 to 6:12 Slope
D1=6"/ D2=4 1/8"
MDA344-6:12 to 9:12 Slope
D1=7"/ D2=4 3/8"
MDA346-9:12 to 12:12 Slope
D1=8"/ D2=45/8"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445
‘\ - Mesa AZ

> 480-558-7210

Dutch Seam Shed Ridge Detail

-

Updated Clip Information

AIZ

KRK

DWG. NO. DR KRK DATE1/29/2015
APP DATE

MATERIAL

MDA910 - Z Closure

DESCRIPTION OF REVISION

BY

APP

SH. SIZE B SCALE X_X




Vented Z Closure
S.S. Painted Pop Rivets
Butyl Sealant Tape
Dutch Seam Panel

Dutch Seam Clip

Note: Start/End Vented Z
Closure runs with at least 2'-0"
of Non-Vent Z Closures.

Water and Air Resistive Barrier

Plywood Substrate

Factory Vented Pre Notched Z Closure

11" Panel - Factory Vented Pre Notched Z Closure will cover 5 Panels.
15" Panel - Factory Vented Pre Notched Z Closure will cover 4 Panels.
19 1/4" Panel - Factory Vented Pre Notched Z Closure will cover 3 Panels.

Note: * denotes color change.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

#10 x 1" Wafer Head Screw

Notched Neoprene set in Sealant

Vented Shed Ridge Cleat
Vented Shed Ridge Cap

-~ 21/4"—~

111/16"

i
—

MDA911 - Vented Z Closure

3/4"

W

D1

3/4"
Vented Shed Ridge Cleat

MDA361-2:12 to 6:12 Slope
D1=5 3/8"
MDA368-6:12 to 9:12 Slope
D1=55/8"
MDA369-9:12 to 12:12 Slope
D1=57/8"

\f/ 1/2"

13/16" x 1/2" Hem

Vented Shed Ridge Cap

MDA362-2:12 to 6:12 Slope
D1=7 1/4" / D2=5 1/2"
MDA364-6:12 to 9:12 Slope
D1=8 1/4" / D1=5 3/4"
MDA366-9:12 to 12:12 Slope

D1=9 1/4" / D2=6"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

DWG. NO. DR DATE

KRK 2/5/2015

01 5/29/2019 Updated Clip Information

APP DATE

AJZ | KRK

MATERIAL

REV.

NO. DATE

DESCRIPTION OF REVISION

SH. SIZE B SCALE

BY | APP

X:X




Appropriate Sealant

Counterflashing

Appropriate Fastener\
\
\

ATA-Guard

Headwall Trim \<
#10 x 1" Wafer Head Screw

Notched Neoprene set in Sealant
Z Closure
S.S. Painted Pop Rivets

Butyl Sealant Tape
Dutch Seam Panel

Plywood Substrate % —~

Dutch Seam Clip = /////z:;i

Factory Pre Notched Z Closure

11" Panel - Factory Pre Notched Z Closure will cover 5 Panels.
15" Panel - Factory Pre Notched Z Closure will cover 4 Panels.
19 1/4" Panel - Factory Pre Notched Z Closure will cover 3 Panels.

Note: * denotes color side.

Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are util

ized.

-

3/8" W.H.

2
111/16"

i

MDA910-Z Closure |

-

MDAS80-Counterflashing

31/2"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

5/29/2019 Updated Clip Information

AJZ

KRK

DWG. NO. DR DATE,

KRK 1/27/2015

APP DATE

REV.

NO. DATE

DESCRIPTION OF REVISION

BY

APP

MATERIAL

SH. SIZE B SCALE

X:X




Appropriate Sealant

Counterflashing —___|

Appropriate Fastener\

Vented Headwall Trim —

AVAVAVAVARAYY

Note: Start/End Vented Z
Closure runs with at least 2'-0"
of Non-Vent Z Closures. Dutch Seam Panel

ATA-Guard
Notched Neoprene set in Sealant

#10 x 1" Wafer Head Screw

Vented Z Closure
Butyl Sealant Tape

S.S. Painted Pop Rivets -
Plywood Substrate
Dutch Seam Clip : — -

Factory Vented Pre Notched Z CIosure

11" Panel - Factory Vented Pre Notched Z Closure will cover 5 Panels.
15" Panel - Factory Vented Pre Notched Z Closure will cover 4 Panels.
19 1/4" Panel - Factory Vented Pre Notched Z Closure will cover 3 Panels.

Note: * denotes color side.
Note: Neoprene Closures are not required if Factory Pre Notched Z Closures are utilized.

M D A9 8 O - CO u n te rf I a S h I n g 01 | 5/29/2019 Updated Clip Information AZ |KRK (reremmar APP DATE

3/4"

5/8" * 3 1/2u

111/16"

R

-

MDA911 - Vented Z Closure

Vented Headwall Trim

MDA510-2:12 to 6:12 Slope
D1=8 1/2"
MDA514-6:12 to 12:12 Slope
D1=9 1/2"

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TI

DWG. NO. DR KRK DATE 2/3/2015

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X




-

MDAG600 - Inside Corner Cap

MDA910 - Z Closure

T~ N N N N N N N
| | | | I 1 | |
\ / \ / \ / \ /\ / \ /\ / \ /\
\I/ \i/ \I/ \1/ \1/
AP A YA A N ANAN
_
o — ||
N__— | =
1 T— /fl | b
— ___——Dutch Seam Panel
| \_/ - \\i H //Inside Corner Cap
T T /f‘l | _— #10 x 1" Wafer Head Screw 4 |
| I
- 1/2" O.H. F
>>H< b __—ZClosure ﬁ
T || _ _ *
‘ \\ /H\i H S.S. Painted Pop Rivets
\h/ Nl
IV /‘1 I Butyl Sealant Tape
“ \/ﬁ i
SN N\ \
——_ i (i Water and Air Resistive Barrier
' ,‘// T~ o /«z\ /JW i
N — m@ kr-» 0
/:3”“\/ it Dutch Seam Clip —
o >~<< M\ 1 1116" 1/2" O.H
N _— i Plywood Substrate .

ATAS INTERNATIONAL, INC

Allentown PA
610-395-8445
Mesa AZ
480-558-7210

TITLE N .
Dutch Seam Inside Corner Detail
DWG. NO. DR DATE,
KRK 1/28/2015
. ated Substrate APP DATE
Note: * denotes color side. o | e R | e S -
NO.. DATE DESCRIPTION OF REVISION BY | APP ’ B X:X




N

IYd

\ Ic/

Va

) \\\ //

~7

\\\ //

//;;

\

\\\ //

f

/\

I

/\

I

A\

/

/\

I

A\

/

I

A\

/

A

/

-/
_— \\
_—
\\

\\

I

\/

|

/
PANYAN

— 7
/ \\
AR
\/H —
\\ I
[
/ I
— |
_— \\\ L\L

\// \\\/// \\\// \\\/// \\

| I

/ \ A /\ A /

SRR

/ Plywood Substrate
/ Dutch Seam Panel

L Z Closure

— |

=

Note: * denotes color side.

- Butyl Sealant Tape

/Out5|de Corner Cap

/Water and Air Resistive Barrier

t%“/S.S. Painted Pop Rivets

#10 x 1" Wafer Head Screw

-
T

111/16"

i

.

MDA910-Z Closure

1/2" O.H.

ﬂ % 1/2" O.H. .

MDA610 - Outside Corner Cap

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

HTLEDutch Seam Outside Corner Detail

DWG. NO. DR DATE,
KRK 1/29/2015
APP DATE
01 3/28/2022 Updated Substrate KRK MATERTAL
REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X_ X




Fastener Quantity for Pre-Notched Z Closures
Panel Width # of Fasteners per Panel
11" 3 11" Dutch Seam
15" 4
19 1/4" 5

Vented Pre-Notched Z Closures

15" Dutch Seam

19 1/4" Dutch Seam

ATAS INTERNATIONAL, INC
Allentown PA
610-395-8445

Mesa AZ
480-558-7210

TITLE

Dutch Seam Pre-Notched Z Closure Detalil

DWG. NO. DR KRK DATE]./ZI/ZO]_S
APP DATE

MATERIAL

REV. SH. SIZE SCALE .
NO. DATE DESCRIPTION OF REVISION BY | APP B X.X






